Bereken procenten van getallen

86 x 80% =

77T % 90% =

53 x 60% =

56 x 40% =

12 x70% =

84 x 40% =

65 x 60% =

17 x 40% =

71 x70% =

97 x 50% =

Datum: Score:

91 x 20% =

25 x90% =

83 x 60% =

36 < 60% =

54 x 50% =

16 x 60% =

5x20% =

55 % 10% =

35 x10% =

65 x 60% =
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Bereken procenten van getallen

86 x 80% = 68.8

77T % 90% = 69.3

53 x60% = 31.8

56 x40% = 22.4

12 x70% = 8.4

84 x 40% = 33.6

65 x 60% = 39

17 x40% = 6.8

71 x70% = 49.7

97 x 50% = 48.5

Datum: Score:

91 x20% = 18.2

25 x90% = 22.5

83 x 60% = 49.8

36 x 60% = 21.6

54 x 50% = 27

16 x 60% = 9.6

5x20% =1

55 x10% = 5.5

35x10% = 3.5

65 x 60% = 39
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